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* Choose the right answer from the

51.

52.

53.

following:

Transducer is used to convert a

1) physical quantity into an electrical
signal

2) electrical signal into a physical quantity

3) physical quantity into a mechanical
quantity

~ 4) physical quantity into a chemical |

quantity
[EPRYETRER SR8 adReARG
1) F8E HBSrea0 3)85355 ?o?ﬁ&e‘i—
2) 0% HBreos® DgE WS
3) FBE HBKPer0 APOBE HBSPer0St
4) 8% HBS5Te0 BARCDHS 585088

Transducer produces a

1) proportional current

2) proportional voltage

3) proportional resistance

4) proportional power

EPREresid6 % ad)d W00
1) oH>s Savro  2) S8 SBE
3) ordwar BTEES, ([M)hardrsr 48
Sensors produce. frequency which is
counted by o

1) a chemical.counter

2) a mechariical counter

3) amelectronic counter

4)yabasic counter

SR BIND a8 o, =
38 BBontodod |
1) 83058 Tobb  2) diro@¥ Fotsh
3) (E Towb  4) (FEE Towd

o4.

55.

56.

57,

Signal conditioner is used for
1) attenuating the voltage
2) maintaining a constant voltage
3) keeping the voltage zero
4) boosting the voltage
26 Sobisn _ 5%d aidGrhodathdon
1) Sséé @9&3«63*3&305
2) B sﬁsgé:s: REEFoSto
3) Sséé Borgre @go
4) Sséé 'a‘abiSéo
A mulfipléxer is used for
1) aceepting multiple inputs
2) aceepting single input
3) accepting multiple outputs
4) accepting single output
%0 £93%0 edIrhotathdod
1) oot aSHSoH wohdBosto
2) 2.8 aSHEdH wohdbosto
3) a8 HOTred wofiEBobto
4) &8 a8 wofsBosto
Output signal is captured using
1) CRO 2) plotter
3) recorder - 4) voltmeter

SHEIE YS __ adGeAoD dolitrosarhsod

1) CRO 2) ek
3) 85286 4) St
Analog computers have

2) intermediate cost
4) less cost

1) zero cost
3) more cost

oerhl Sodrtygs® AT
1) Iy 98y 2) 20o8)BeHE )
3) &S &) 4) S5 pBY)



58.

59.

60.

61.

62.

k. 63.

Input impedance depends on '
1) resistance 2) capacitance

3) inductance 4) voltage

SRS BOVANY D rEHs dotood
1) AB°HES 2) BB,

3) 2088]) 4) Ssééag

At high frequencies the capacitive
reactance.

1) is constant
3) decreases

2) increases

4) becomes zero

©RE TS encies HiTge S BFHES baER,
1) ?géorv Gotnod  2) 2BHHod

3) é?%éao& 4) T ©H&Hod
Voltage ranges in a meter are

1) 5-10-15 2) 20-50-100

3) 0.5-1-1.5 4) 1-3-10
Doetd SgE Bore

1) 5-10-15 2) 20-50-100
3) 0.5-1-1.5 4) 1-3-10

Linear meter with 1% accuracy(must
have '

1) 100 divisions  2) 50 divisiens

3) 200 divisions  4) 500 divisions

1% a:z‘.‘be‘ﬁésoés &) Oc%6 S
Qowd | ~

Q) 100 Qerrreen .50 " Degrrren
3) 200 Derrreen 4) 500 Dgrreen
Noise is a function of

1) voltage 2) current

3) bandwidth 4) frequency
E0 S HOES

1) 55§a‘§' 2) %8

3) em5oBRE 4) BENY

Current can be measured effectively by
making use of

) d.c. voltmeter 2) a.c. ammeter
3)d.c. ammeter  4) a.c. voltmeter

% add@rhoiio T ¥8085%
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64.

66.

67.

68.

- 3) kg
65.

1) d.c. Sepineb
3) &.%. b 4) a.c. Seploest
Low voltage signals can be measured by

o v atsPmidal
2) a.c. (Jou’;@b

1) amplifiers 2) trangformers
3) transducers 4) voltmeters
S8 FFE soleeis

SCHIGE)

1) dirodpote,  DERFER

4) SEG

Input impedance of an electronic
voltmeter is

1) low, 2) high

3) tedium 4) zero

2olgIE SgHeb I BSHE BONEN)

Ty 2) ©b

3) Sécko 4) %o
Bridge is balanced by

1) galvanometer 2) oscillator

3) zero adjustment resistor

4) head phone

083 e Sehego)doh

1) reexS*aoed 2) 8,286

3) T éégaréoa 88880
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What is the effect of the input on the
transistor Q2?

- 1) bias on Q2 decreases

2) bias on Q2 is constant

3) bias on Q2 is zero

4) bias on Q2 increases

ErQEE s 2 B aSHE Berdo DE?
1) Q2 2 $grdo Srh&od

2)Q2 2 ééﬁve‘ﬁo &dorr éotood
3) &g 2 D DEFo Wowyy

4) Q2 2 HErdo 2BHEH
What is basic range of a meter?
1) causes maximum deflection
2) causes minimum deflection

- 3) causes zero deflection

4) causes medium deflection
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3) Soam) VSPHestHd sBeasoH 08
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High range can be obtained in a basic
D.C. electronic voltmeter by

1) atransformer 2) an attenuator

3) atransducer  4) aresistor

(EPEDE (FRD (FEDE 8.8, oTE FFheb
TRO° SPOHEY)

1) Q-85 2) ©BKrgahesb

3) 28 EPQERE 4) a8 BP0
Overloading is

1) damages the meter

2) increases the temperature

3) doesn't affect the meter

4) decreases the sensitivity

£.566%&oh

1) DB FH Bod

2) afBKE BEIHE0E

3) &eody) (HardBo Bahd

4) BB SHKOD

Digital voltmeters converts

1) analog to digital signal

2) digital to analog signal

3) current to voltage

4) résistance to voltage

Bebd Sehogy () 0 Erhikon

1) 886S MHSH B8R

2) 82t el \ederh S

3) Sséé So08 éBorS

4) SLEHQE°ES

method is used in centralized
systems to perform out of order
execution. : .
1) Scorecard 2) Score boarding -

3) Optimizing 4) Redundancy

0Pl PERS Hod 2hLHEErR8 éo@%é
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77.

In a DVM, a transducer converts

1) input to proportional current

2) input to proportional power

3) input to proportional voltage

4) input to proportional resistance
a¥ DVM &, ef (&rQyints

SmE00
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In a DVM, ‘a,signal conditioning circuit

is used

1):to bring current to a suitable limit
2)to bring resistance to a suitable limit
3)to bring resistance to s suitable limit
4yto bring voltage to a suitable limit
DWVM &5, &i5$ $oBHiQoh $Ergs

3R rAotat ol

1) £8085% SAS HODHE B:rHTHE

2) RS HODAE (HBLEH AHBTRE0
3) RS HODHE VEFBESD A TSEo
4) 8RS 50088 SBE SvdTsto
Input range of DVM is

1)1Vto 1000V
3)0.01Vto 1V

2)0.1Vto 10V

4)0.001 Vto 0.1V

- DVM &%) aSHE $08

1) 1 V %08 1000 V.

2) 0.1 Vo0& 10V
3) 0.01 V& 1V

4) 0.001 V 508 0.1 V S58%
What is the effect of IC chips on DVM?
1) increase in cost 2) increase in power
3) reduction in cost

4) increase in size

8203 oD D) Herdo DE?

1) %) 2BRE
3) ‘:ptSJJ éﬁgo@

Dlorl0V
3 100r100V

2) 48 DEIHEO

4) $8Lweos® DHIHBY
Basic range of DVM is

2)0.1or1V
4) 100 or 1000 V
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78.
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82.

DVM &%) (808 3508
1)1 8w 10 V
2)0.18z 1V

3) 10 Sz 100 V

4) 100 8= 1000 V

Accuracy of a DVM is

1) low 2) high

3) medium 4) zero
DVM &%) pdde

1) & 2) of¥

3) d&abo 4) Koy
Input impedance of a DVM is
1) low 2) zero

3) high -4) medium
DVM G»%) 3R:98 S0aEN)

1) $&%5 2) Gom

3) 068 4) d&aho

In DVM the common mode rejection
noise is eliminated by

1) increasing the signal amplitude

2) making use of a resistance

3) using a transformer

4) guarding

DVM &° rgetes Sr& 8830 dgon
TRo° Fofodathdod

1) f’o?ﬁ&é 5% 3’301‘5850’

2) (B850 BHRPAGBEe

3) ErQart)d eddRhod

4) zoHew

Output of DVM neéds

1) 4 lines 2) 2 lines

3) 8 lines 4) 16 lines

DVM & 808 eiisdo
1) 45050 2) 2 Hoken

3) Bbodren 4) 16 So¥en

Normal mode noise ¢an be eliminated
through '

1) attenuation - 2) filtering

3) amplification ~ 4) a transformer
el Ik Q) owoe Eofolidif)
1) o8XgGHHS 2) SEDS

3) ABes 4) 2.8 @5'35,)“25&8

83. DVM has
1) 1-3 digits 2) 2-5 digits
3) 3-6 digits 4) 7-10 digits
DVM 8 aob
1) 1-3 ®o3en 2) 2-5 o3
3) 3-6 ®@osen 4) 7410, 03D
84. What is a digitizing cixcuit?

85.

86.

1) converts digital signal to analog

2) boosts the magnitide of a digital signal
3) attenuateswa digital signal

4) convert§ ahalog signal to digital
eBeoh, BErRS ©ol DE?

1) BReSHSH ederhir Srdhiob

2), 88 ?\3@55 G0 HBLETY 205H &b
8) S8&HS ?0?&5:63 20508

4) gderh BHSH Btodrr Srdnod

A successive approximation type DVM
makes use '

1) of a digital divider

2) of an analog divider

3) of an oscillator

4) of a transducer

$%% aepowod) 8o DVM Q
SHIBPAKOE CR

1) &8s &366 ¥

2) eoderh &IEE To¥)

3) 82806 ¥

4) ()58

Successive approximation type DVM is
based on the principle of

1) acceleration of an object
2) weight of an object
3) velocity of an object

- 4) momentum of an object

SBod ee:;o::o‘o’o) 8% DVM
¥ erdHdd dotnod
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87. Which compares the output in a

88.

89.

90.

91.

successive approximation type DVM?
1) op amp 2) diode

3) comparator 4) rectifier

Sd wepowo) s¥o DVM & ©HEHES

26 D87
1) op amp 2) &3r&
3) DO 4) BEPAHE

Mechanical gauges measure the

1) change in resistance

2) change in length

3) change in area

4) change in inductance

oES N 5 Senpow

1) (5850888 $08)

2) SEHSE° St

3) @Fodod® Sty

4) aoeégﬁn) Loed)

What is the role of logic control and
sequencer in a successive approximation
type DVM?

1) generate analog voltage

2) generate power ’

3) generate current through resistance
4) generate sequence code

S50 eepomo) 880 DVM & B Yol5*S
%80k H3)E FE dd?

1) e9derh 553’5:63 @B 3@0&

2) 389 ééo)é’a 3@0&

3) (‘085(,556 TO° DERED eéo)@ 308

4) ‘o§§5“) g5E5 Gipo®oiod

Resolution of a sucCessive approximation
type DVM is given by the relation. -
S weponoR) o DVM Go¥) Oesemshs
BTAS T, st dod.

1) Rel/10n 2)R=1/10

3) R=10n 4HR=10

Sensitivity of a successive approximation

type DVM is given by the relation.

$G% weponor) 8o DVM &g HoQddse
BonoFo oo alsathdob.

1) S = fsmin 2) S =fsmin xR
3)S=R 4) S = fsmin ? R

92,

93.

94.

Speed of a successive approximation

type DVM can be improved by making

use of

1) electrical switches

2) mechanical devices

3) solid state devices

4) transformers

b adc@rposte TRoe S6d

aepancid 8o DVM Gt S SeorbBsssy

1) 90@55 xSen  [2) diro|BE H08Tren

3) 0 8 $85E . 4) (PP

A recordenis a device

1) An indicating instrument which
displays @ time-varying signal

2) Whese function is to record the value
of the Guantity as it is being measured

3).Which records electrical and non-

“electrical quantities or relates two

signals to each other as a function of
time

4) Which records the value of the quantity
measured as well as the electrical and
non-electrical quantities as a function
of time

os°g5 a8 08B0

1) 550000 -5r8&K) HSSH @656303 (oavv‘l)oiﬁ
HBBBo

2) $BS8rea0 5"8)3&3@63 oD Dendd 65°§
Schdo BB B
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In a dual slop integrating type digital

voltmeter, the firs integrating is carried

out for 10 periods of the supply

frequency of 50 Hz. If the reference

voltage used is 2 V, the total conversion

time for an input of 1 V is?

1)0.01s 2)0.05s

3O0.1ls 4)1s



95.

96.

97.

oS 208{80f 8o 8swd FEWLES,
50 3§ ¥8Hoc S frequency Higo T
10 ered H8) s08MSoh adhifdhod.
SHEPRORK BF0N) ST 2 V oawd, 1 Vi)
)5 g0 Iwdo Er0)s Bcho?

1) 0.01 2 2) 0.05

3) 0.1 )1

The source of emission of electrons in a
circuit.is
1) p-n junction diode

2) a barium and strontium oxide coated

cathode '
3) accelerating anode.

* 4) post-accelerating anode

28 $6m 356° JolTR amd Sroo
1) p-n 2058 &G

2) B8c%o SHBSw @;Q@)o SR)E 8 =66
3) SSrSED SKSodo Byod

4) @%—d’)ﬁ%vﬁéﬁoﬁ S5 SE

A CRO can display

1) AC signals 2) DC signals

3) Both AC and DC signals

4) Time-invariant signals

&% CRO Q ($8Go8

1) I 255 '2)DC HoSeren

T 8) A B &D ?‘35&6.3 Bodr

4) ScH-Ersy) EYBoSEe

X and Y plates, of a*CRO are connected
to unequal voltages of equal frequency
with phase\shift of 90°. The Lissajous
figure oirthe screen will be?

1) Circle 2) Straight line

3) Ellipse 4) Figure of eight
CRO &% X £0css Y iy 90° 68 Set8®
BEPS oS BwEy eddes Fgfos”
vdomrlotald aTnon. 38R Oruf 86
actnoh? :

1) 385 2) Fowt5 88
3) D 4) dVE S8

98.

99,

100.

To the Y input of a CRO, we feed a signal
defined by 10sin100t, to the X-input, we
feed signal 10cos100t. The gain for both
X channel and Y channel is the same, the
screen will show?

1) Sinusoidal signal2) A straight line

3) An ellipse 4) Alcirele

CRO &% Y a5:¢6 S 10% 3 100t =8
SRS S, X - L5585 Botrin, ks
2158 10cos100t & Soirsio. X 736 ks
Y 73S Bolo&s ergo 2,88, @275 75?0:0.005‘?
1) :02631@5033855 (025;5

2) $8¥ B

3) 208 égé ae:goéb

4) 28 :f)e)éo

A CRO uses

1) Electromagnetic focusing

2) Electrostatic focusing

3) Both Electrostatic and Electromagnetxc
focusing

4) No focusing technique

2% CRO D GaSHERPAZ0

1) thﬁaéédﬁaézoé &%

2) DBELEE P

3) 3)(535(5(553&27065 0805 Z)Cﬁaécsdﬁaﬁfzoé 8 9%
4) 5D T 88§ 8%

A CRO probe has an iinpedance of 500
k? in parallel with a capacitance of 10

'pF. The probe is used to measure the

vbltage between P and Q as shown in

the figure. The measured voltage will be?

&% CRO @5 10 pF SFd8Y) dlrostorr
500 kO 202ES) 50A aotnod. DFs® Srdis

| Do P %0 Q S FEES Pt

&S a8 Brhodnidiod. FOIS STGL

dodnoh?
1)3.53V 2)347V
3)5.54V 4 7.00V



101. The two inputs of a CRO are fed with two

102.

103.

stationary periodic signals. The figure
changes from ellipse to circle and back to
ellipse with its major axis changing
orientation slowly and repeatedly. The
following inference can be made from this.
1) The signals are not sinusoidal in nature
2) The amplitudes of the signals are very
close but not equal
3) The signals are sinusoidal with their
frequencies very close but not equal
4) There is a constant but small phase
difference between the signals
CRO &%) Sotd aldPdods Bok %6 8583

HoSeros® 8RB, UG &Y Wbk &Y

BTl Srthdod S0 T FES wFo

IspBm Hodke 38 Erdy 67688

5@6@)6_‘;0@?0% Srtdod. &Y KHod & Bk

dsrko JhSR).

1) Bodoeen @ée)@éis P 5o

2) DS) FBoo¥) TRy T Slalctey éo&no& =9
Shmhorr okt

3) Hoseren ?‘gzénvsbﬁopéé, o8 g YTgED TP
cSzOﬂtSm Sotron 520 DIMSOIT SORD)

4) %odzee otgg & 26T SR DY) & B God

An oscxlloscope indicates

1) The peak towpeak value of the voltage

2) DC value of the voltage

3) Rms value

4) Averéage value

LRSS

%o Hoeigol

1) 55§a§ cB:oé& zﬁag Qend Hod ﬁ&g Dend

2) $%8E @n¥) DC Dend

3) Rms Densd

4) Jen Jendd

Active transducers are classified into
1) 4 types 2) 2 types

3) 6 types 4) 8 types

104.

105.

Birde (Erlyirsbtit $P500Ts
1) 4 Ysven 2) 2 bzren
3) 6 Bzren 4) 8 Yzren

Active transducers develop

1) mechanical parameter

2) electrical parameter

3) chemical parameter

4) physical parameter

GBS (ErRyimsidy 085 )8 Boarom
1) SErol@8 Soons

2) 3)65355 HoPdDE

3) EIronB, SRend

4) FHE LT D&

How do passive transducers develop

~ electrical signals?

106.

107.

1) using a transformer

2) using internal source

3) using external source

4) using a diode

PSS ErRETgSts Asé HoBorod Je
oS )8 BPB?

1) ErQHFED aBdTPhoD '

2) 00888 Joreer) ad@DrRosEo

3) ardey Looeer &HBrRoSEo

4) EBr& SOBrRoD

Capacitive transduction involves
1) change in resistance

2) change in inductance

3) change in resistance

4) change in capacitance

SFRBS PSS aotood

1) (B80S’ Sty

2) ao_égEQeSs L)

. 3) (HBHOIE L)

4) BB Sty

In electromagnetic based transduction
measurand is

1) converted into mechanical force

2) converted into electromotive force

3) converted into chemical force

4) converted into physical force
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108.

109.

110.

111.

Dilgoped $T08 ErQEES Fodd®
1) &Seol®8 8re I othdHod

2) DEB@SBJ@&SS POy S atodod

3) B3cHS EErr SredyethErod

4) 88 v 53*36‘333&3&)0&
Inductive transduction involves

1) change in self inductance

2) change in capacitance

3) change in mutual inductance

4) change in resistance

(B88 EPREES Gotood

1) Sxa% (388 Std)

2) SFVBHE® Sty

3) D8NS (Bess® Sy

1) ($B0SS St

Photovoltaic transduction involves
1) voltage generation heat

2) voltage generation through sound
3) voltage generation through light
4) voltage generation current
=0805ES EPQKES Gotwod

1) Ss'eéé $80 38

2) &9 T Sséé ad8

3) 08 e SBE a)d

4) 55§§a§ 2SBRS EBoS

Analog transducers convertinput into
1) voltage 2) current

3) digital 4) analog

o3erh (EPRyrsit SRS Srtoaromn

1) 588 2 (D00

3) &2 1) oSerh

Power is

1) rate of doing work
2) rate of\producing voltage
3) rate,of generating current

4)xate of overcoming friction
%8

1) 33 T Bew
3) €80t a¥)d Bex
4) 8 ©HKMoTD B

2) SEEQé a$)d Bew

112,

113.

114.

115.

In A.C. circuits, power consumed is

1) product of voltage and current

2) it depends on the p.f. of the circuit in
addition to voltage and current

3) it depends on the supply voltage

4) it depends on the maggitude of the
circuit current

A, Smgndt, dR&E-AE €8

1) $'88 f08ako 8805 (Gog 688

2) 2 Pl FEE O EBOSEE® e Bt
¥

3) 2d dHoe 55§§ DS srdHs Gotnod

4) 26 HErxts EBoE D) HBEPea0 D 858
@otuod

In D.C. circuits, power is measured using

1) ohmmeter and galvanometer
2)'ehmmeter and voltmeter
3yammeter and voltmeter

4y ammeter and galvanometer

D.C. $8rp0s®, €82 ad&rhod
Seords

1) 8,866 B rrexS s

2) £:0p06 HBcd SPSweE

3) e@dnib HBa%o ssegﬁa:eas

4) 0dneb HBAED regSHws

In A.C. circuits, power is measured using
1) voltmeter 2) ammeter

3) ohmmeter 4) wattmeter

AC. $mptdt, BB edGrhoD Seoindd

1) Ssegfljéag 2) @f.b&éos :
"3) &5)3&&35 4) 5l

Electrical strain gauges measure changes
in

1) resistance, capacitance and inductance
2) resistance only

+3) capacitance only

4) inductance only
Qo(§8S [’80335 Refen
enon

1) DEFLES, BXHBY) B LT
2) DBEES Kool

3) BFLBY) LrED

4) 08X S|

& Srdnoi



116.

117.

- 118.

119.

120.

A dynamometer type wattmeter consists
of

1) only potential coil

2) potential and current coils
3) only current coil

4) no coils

Z53r5o0b Bto aeb
aodwod

1) Sogrssy sPaneS Kool

2) Bogrsy B (HRE seand)
3) (08 oS Sw(ED

4) scand) 89

Commonly used electrical strain gauge
is '
1) open type

3) unbounded type
4) bonded type
F8momr adRPAS Q088 (Ro»s AE

50N

2) closed type

1) &8 8%o 2) 88 85

3) 958w BBo 4) 20088 8o

In a Dynamometer type wattmeter;,the
fixed coil is split into

D4 2)3 3) 2 4)1
G5artob o TEMLESF P N
w FLosadod

1) 4. 2) 3 3) 2 4)1

When a current cafrying coil is placed

in the magnetic field.

1) no force is exerted

2) voltage is produced

3) power is generated

4) a force is gxerted

ochod 308 % 0 TS ao{)é@cﬁ:
1) denSeB ¥, ok '

2) 55635 688 ©H¥0s
s, &8 ©HE0d

4) &5 &8 éacﬁﬁﬁoiﬁac‘fséﬁao&
When the moving coilina Dynamometer
type wattmeter deflects

I) pointer moves

2) pointer doesn't move

4y current flows

4) voltage 18 generated

121.

122

123.

Bis3rdneb B0 o aSiae B8 508 wund Uit
SN

1) anotrb BOLeDn

2) Sronotrb BEetsh

3) (B (Harsdben

4) 5S§;§ a8 eHEol

Induction type intruments are used for

1) A.C. measurements

2) D.C. measurements

3) Resistancesmeasurements
4) Voltage measurements
SOUES 650 HosTP
£°50, ADTPATE
1)'A.C. oden 2) D.C. SPoden

3) &8 Seoden 4) Ss'ééé EPerden
Driving system in an induction type
single phase energy meter consists of

1) one magnet

2) two electromagnets

3) five electromagnets

4) ten magnets

SoKER 8% RoAd >E 3266 D68 @ L‘-_QOE
S : 80 dotnod
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Series electromagnet consists of

1) L shaped laminations

2) T shaped laminations

3) Ushaped laminations

4) Y shaped laminations
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Shunt magnet consists of
1) N shaped laminations
2) E shaped laminations
3) S shaped laminations
4) M shaped laminations
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Shunt magnet has

1) large turns of wire

2) small turns of wire

3) medium turns of wire
4) no turns or wires
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Moving system of the induction type
single phase energy meter has

1) heavy aluminium disc

2) light aluminium disc

3) medium aluminium disc

4) no aluminium disc
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Braking system consists of

1) bar magnet

2) temporary magnet

3) permanent magnet

4) super magnet
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What is the effect of eddy currents in the

aluminium disc?

1) varies by a factor of twice the disc
length

2) independent of the disc speed

3) varies by a factor of four fimes the disc
size

4) proportional to the disc speed
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What.is a‘current transformer?

1) transformer used with an A.C. ammeter

2) transformer used with an D.C. ammeter

3) transformer used with an A.C. voltmeter

4) transformer used with an D.C. voltmeter
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What is a potential transformer?

1) transformer used with an D.C. ammeter

2) transformer used with an A.C. voltmeter

3) transformer used with an D.C. ammeter

4) transformer used with an A.C.
voltmeter
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C.T.and P.T.areused for

1) measuring low current and voltages

2) measuring very low current and voltages

3) measuring high currentsand voltages

4) measuring intermediate currents and
voltages



132.

133.

134.

135.

B8, S0 2.8 o ad@rAdd

1) S5 830 oake FFSud Fosto

2) srer $K)% 8805 B 55§§0263 Bosdo

8) ©i¥ [Horifer HBGH FPSed Fosto

4) BoLARE (HBaester L8 RGLISES
Sodto

The primary winding of a C.T. has ____

1) alarger number of turns

2) no turns at all '

3) intermediate number of turns

4) a few turns
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The secondary winding of a C.T. has

1) a large number of turns

2) a few turns

3) no turns at all

4) intermediate number of turps
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Turns ration for aC.T. is
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The primary windingofaP.T.has______
1) iftermediate number of turns

2). noturns at all

3yalarger number of turns

4) a few turns
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The secondary winding of a P.T, hag

1) a large number of turns

2) intermediate number ofturns
3) no turns at all

4) a few turns
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Turns#¥ation for a C.T. is
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In‘a voltage to frequency converter type
integrated DVM,

1) voltage is converted to time

2) voltage is converted to frequency

3) frequency is converted to voltage

4) frequency is converted to time

SgE @ B30y 88588 8¥o 208 N&E
DVM &,

500 éod

1) S8E $205r08 Sryptood

2) -S%é @E&@Jm L8y &08
3) $&dy Sséém Syt EHob
1) $3:dy) $0008 Srdymrodood
Input voltage is measured by
1) using a voltmeter

~ 2) counting pulses
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3) using a multimeter

4) using an ammeter
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Main component of an integrating type
DVM is

1) diode
3) op amp

2) amplifier
4) oscillator
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When input is positive, the output is

1) growing exponential signal

2) decaying exponential signal

3) positive going ramp

4) negative going ramp

Al FPEroore SN, ©HSHS

1) 2By Q%Bf%cﬁaé S

2) ée%‘@nzé& Srzrol MifS

3) 288 Fonoh oo

4) KBS Fowoh oH

What is the effect of the input signal on
the output teeth?

1) directly proportional

2) inversely proportional

3) independent

4) square proportional
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Application of an input voltage generatesa
1) linear signal at the output

2) ramp at the output

3) exponential signal at the output

4) unit step signal at the ofitput
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Accuracy depends on

1) input voltage

2) drop across the capacitor

3) magnitude and stability of pulse
generator

4) magnitude of the ramp
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Strain gauges are classified into

1) 3 types 2) 5 types

3) Miypes 4) 9 types
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Resistance wire gauges come in
1) 4 forms 2) 2 forms

3) 6 forms 4) 8 forms
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Bonded resistance wire strain gauge is
of

.
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SD1 - 52)2% 53)3 544 551 56)3  57)4  58)2 593 60)4. 3
D1 623 634 691 652 663 6704 681 692 70)3 |
M2 "2 733 794 51 763 N1 82 7193  80)4 |
81 822 83)3 894 851 862 873 88)2 894 90)1
92 993 93)4 943 994 963  9N3 984 992 100)2
104 1021 103)1 10492 1053 106)4 1072 108)1 109)3 110)4
ND1 112)2 113)3 11494 1151 1162 1174 118)3 1194 120)1
D1 1222 123)3 124)4 125)1 126)2 127)3 128)4 129)1 130) 2
BD3 1324 133)1 1392 1353 1364 1301 138)1 -139)2 140)3
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